G Best Engineering (Service Division) Ltd

ID-No...:018-28B12|Page....: 3. g
pa PARTS LIST
.y Date....:940106 By......:BB
h(> Actuator BHA 0 MARK 2
Pos|ID-No. Description/Dim. Num. (Unit| Remarks
02201283 |Ass.Dwg. Pcs
024D0652 |Dimension Sheet Pcs
1 018-1932 | Packing Set 1|Pcs
2 018D2822 |Housing 1|Pcs EBI
3 01802831 | Pinion 1|Pcs Olav Rasmussen
( |4 |o018E2841 Rack 1{Pcs | NMH
5 022-2032 |Cylinder 2|Pcs EBI
7 018E2901 |Coupling 1|Pcs Adaption EBI
8 01802893 | Intermediate flange 1|Pcs Adaption EBI
9 01BE2921 Plate BHA 0O 1| Pcs NMH
(, 10 |(016E5201|Indicator (016E5191) 1| Pcs Munchenberg
11 (016E3932 | Indicator 1| Pcs Arne Rasmussen
14 |016-4291 | Stop valve 1| Pcs EBI
15 |016E5243 |Name plate 1|Pcs Inter Metal
i 16 |018E2911|Stud M6*20 4| Pcs Olav Rasmussen
(‘ 17 |403-3020|Screw M6*20 A4 DIN 912 8| Pcs
18 |(414-3010|Screw M5*010 ISO 7380-A2 4| Pcs
19 (900-0010|Rivet No. 0 2| Pcs
20 52011060 Nut M6 DIN 934-A4 6KT 4| Pcs
(

Nordisk Marine Hydraulik Marinebuen 6 DK-4700 Nastved. T1f 55771800




